Theme 1 – Division of Labour and Specialisation


Specialisation and the Division of Labour
What is Adam Smith’s most famous piece of literature and when was it written?

Why is Adam Smith relevant in terms the division of labour?
Define division of labour:

What is the difference between division of labour and specialisation?
Complete the sentences with the phrase below:
1. A worker who completes a portion of a good or service is a..? 
2. The calculation for productivity is output divided by..?
3. A worker who completes all steps in the production of a good or service is a..? 
4. A business purchase of new machinery and equipment is an..? 
5. The process where workers perform only a single or very few steps of a major production task is..? 
6. Kendrick School sends its employees for computer training. This is an example of..? 
7. Increasing productivity results in..? 
8. An advantage of the craftsperson method of production would be..? 
9. Increases in productivity generally result in..? 
a) Specialist 
                                                                                 f) investment in capital resources

b) number of workers                                                                g) craftsperson

c) lower prices for consumers 
                                              h) division of labour

d) variety during the workday
                                              i) investment in human capital
e) more goods being produced using less inputs 
Read the notes provided and outline the advantages and disadvantages of specialisation and division of Labour:
	Advantages
	Disadvantages

	
	


Mr Wilson’s Thinking Further Challenge(s)… 

How else could we evaluate this theory? Can you think of any goods (or indeed services) that the division of labour would not be effective in producing? Explain why.

Considering that workers may receive narrow training, how could this be linked to the PPF curve?

Karl Marx said that the division of labour causes employees to be "depressed spiritually and physically to the condition of a machine.” Explain what Marx meant by this and outline other ways this type of production might impact upon the economic welfare of employees.
The following are two questions from the AS-Level paper about the functions of money and specialisation:
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Use the data to support your answers where relevant. You may annotate and include diagrams
in your answers.

1 (a) Which one of the following is the most likely consequence of an increase in the
division of labour in the production of smartphones?
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O A Decrease in boredom for smartphone workers

O B Decreasein use of specialised manufacturing equipment
[0 € Decrease in the cost per unit of smartphones

O D Increase in training costs per worker

(b) Explain what function money has in improving specialisation in the production
of smartphones.
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(Total for Question 1 = 4 marks)
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Question
Number
1(a)

Question | Answer
Number
1(b) Knowledge 1, Application 1, Analysis 1

Knowledge/understanding

1 mark for definition of specialisation or definition of
money acting as a medium of exchange or a measure
of value or a store of value or a method of deferred
payment. Specialisation requires exchange.

Application

1 mark for application to a process, business or
worker, e.g. Worker lives by exchanging earnings from
making smartphones or receives training or is
incentivised by money or smartphone company earns
profit by trading in smartphones.

Analysis

1 mark for linked development from money to
improved specialisation, e.g. new technology enables
further specialisation thus improving productivity or
building up capital or increasing skills of workers.
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